| daiin: YIIIM-230.2600M_kat | Cocragnen: 24.02.2010 r. | JIucr: 1 u3 2

Ne Ha K-Bo,
— Kon HaumeHoBanue neranu XapakTepucTuka -
1 69.02.00.03.00 | l'aiika npwxuMHas DUTHQKpYyTa 1
2 69.02.00.04.00 | Koub1o pe3nHoBOE
3 69.02.00.02.00 | dnaner onOpHBIN HITHPKPYTa
4 69.02.01.01.00 | Koxkyx 3amuTHBIN @230
5 69.02.01.02.00 | 3akuM 3KCLIEHTPHKOBHIN B cOOpe
7 00.02.04.03.07 | Bunr M6x30
9 69.03.01.02.00 | lnuanens & dnan. 14mm
10 | 00.02.04.07.01 | Bunr M5x16 (TORX- T20)
11 | 00.02.02.01.05 | Illaiiba rpoBepHas &5
12 | 69.03.01.01.00 | Kpsika pexykropa
13 69.03.01.03.00 | ITpUILHUK 3aIUTHBINA
14 00.01.01.01.72 | IoamMmHKUK MAPUKOBKIH 6302-2RS
15 |69.03.01.04.00 | Kppiuika moamumHuKa
16 | 00.02.04.01.14 | Bunr Mb5x12
17 | 69.03.01.05.00 | Koseco 3yduaToe KOHHYECKOE Z=49
18 00.01.02.01.22 | [TommWITHAK POTUKOBBIN HK1212
19 | 00.02.99.02.02 | Illaiiba cTonopHas B8 (16,3x01,2)
20 | 69.02.00.01.00 | Pyuka 6okoBas
21 ] 00.02.04.08.01 | Bunr M5x10 (TORX- T25)
22 ] 00.02.04.08.02 | Bunr M5x20 (TORX- T25)
23 ] 00.02.03.01.16 | Bunur 5x40
24 ]69.03.02.02.00 | ®dukcaTop mmuHIenI B cOope
25 |69.03.02.04.00 | INpyxuHa ¢pukcaTopa MIMAHICII Oul5x25 S=1
26 | 69.03.02.01.00 | Kopmyc pemykropa
27 69.04.02.02.00 | I'aiixa cnenuajbpHas M10x1
28 | 69.03.02.06.00 | IllecrepHsi KOHUUECKas Z=12
29 00.01.01.01.73 | [MommwIHUK IIAPUKOBBIN 6301-2RS

30 | 69.03.02.07.00 | Konblio yINIOTHUTEIBHOE

31 69.03.02.09.00 | Kpsliika mOAMIAITHIAKA

32 | 69.04.02.01.00 | SIkopb ¢ BEHTHIATOPOM

33 |69.04.02.01.01 | duck 3amuTHBII

34 00.01.01.01.03 | [MommWIHAK IIAPUKOBBIN

35 |69.04.02.10.00 | Brynka pe3uHOBas

36 | 69.04.00.01.00 | nadparma

37 100.02.03.01.50 | Bunr 5x80

38 | 69.04.01.00.00 | Crarop B cbope

40 |69.04.00.02.00 | Kopnyc nBurareins

42 | 00.02.03.03.03 | Bunt 4,2x10 (TORX- T20)

43 | 69.04.00.09.00 | KpsImka meToYHOro y3ia (JIeBas)

44 | 69.04.03.03.00 | IpyxuHa IIETKH

45 |69.04.03.02.00 | I€Tka snekTpuyecKas

46 | 00.02.03.01.02 | Bunr 4x12

47 69.04.03.01.00 | HleTkomepkaTeinb 0,47mMx® MEX GPF 40/85/21/C

48 | 69.04.00.09.01 | Kpsrmka 1meToqHoro y3ia (rmpasas)

49 |69.04.00.07.00 | Knomka-ukcaTtop pyKOSITKH TOBOPOTHOM

50 ]69.04.00.08.00 | IlpyxwuHa pukcaTropa pyKOsITKH

I L I AN RN I R R R E Y N R R I R R N R R R R

51 ] 00.10.07.01.07 | Bnoxk 37aeKTpOHHBII AOL 24(24)A 250V DS24A
53 |00.10.01.01.11 | Beixmrouarenb B cOope KEDU 114711001 EN61058
250V 50HZ 16(16)A 5E4
%’?% £ EE‘="=K R KarTanor 3ammacHBIX JacTEeH U3IAEIIHSI
MAIINHA PYUYHASA
HeiictBurenen c: 24.02.2010 r. DJIEKTPUYECKAS YIIIM-230/2600M
YIJIONUIM®OBAJIBHASA




| daiin: YIIIM-230.2600M_kat

| Cocragnen: 24.02.2010 r.

Jlucr: 2 u3 2

54 | 69.04.00.05.00 | Pyuxa

55 ]69.04.00.04.00 | Ilnanka ¢ukcanmu mWHypa

56 69.04.00.06.00 | Pyuka-Hakmaaka

57 100.02.03.03.04 | Bunr

4,2x16 (TORX- T20)

58 | 69.04.00.03.00 | TpyOka 3amuTHas

59 ] 00.10.02.02.03 | Hlnyp nutaHusi ¢ BUIKOH

HO7RN-F 2x1,5mm? 4m

N

60 09.01.04.01.00 | Karou crienuaabHbBIN

T
.|

R KarTanor 3ammacHBIX JacTEeH U3IAEIIHSI

HeiictBurenen c: 24.02.2010 r.

MAIIINHA PYYHAA
OJIEKTPMYECKAA
YIJIOOUIM®OBAJIBHAA

YIIM-230/2600M




